Chapter 1 – A Framework for Analyzing Collective Bargaining and Industrial Relations
True/False
[QUESTION]
1. The process of industrial relations involves only two parties ‑- labor and management.
Ans: False
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[QUESTION]

2. Industrial relations and human resource staff professionals are part of management, not labor.

Ans: True
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[QUESTION]

3. Collective bargaining rarely yields any positive gains because labor and management lack common interests.

Ans: False
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[QUESTION]

4. According to the three-tiered approach, the collective bargaining process is rarely affected by environmental factors.

Ans: False
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[QUESTION]

5. It is widely believed that in order to limit the damage that poor industrial relations can have on the economy, public policy should require collective bargaining and unionization for all workers.
Ans: False
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[QUESTION]

6. The concept of class consciousness is identified most closely with John R. Commons and other economic institutionalists.

Ans: False
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[QUESTION]

7. Institutional economists, Marxians, and other social reformers all believed that, under conditions of "free competition," individual workers would deal with the employer from a position of unequal bargaining power.

Ans: True
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[QUESTION]

8. Collective bargaining is the only feasible process by which employment conditions can be regulated and administered.

Ans: False
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[QUESTION]

9. A law which grants employees the right to strike illustrates how the external environment can affect the bargaining power of the parties involved.

Ans: True
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[QUESTION]

10. The three-tiered model assumes that labor strategies and structures have less influence on the course of Industrial relations than management strategies and structures.

Ans: False
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[QUESTION]

11. Bargaining structure refers to the scope of employees and employers who are affected by the terms and conditions of a labor agreement.

Ans: True
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[QUESTION]

12. According to the three-tiered model of industrial relations, the functional tier is the arena in which the process of contract negotiations takes place.

Ans: True
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[QUESTION]

13. During the 1970's, unions in the United States did not fare well in representation elections.

Ans: True
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[QUESTION]

14. Bargaining structures in the United States tend to be highly centralized.

Ans: False
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[QUESTION]

15. According to the three tiered model of industrial relations, bargaining outcomes are rarely affected by the bargaining process.

Ans: False
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[QUESTION]

16. Bargaining outcomes encompass a wide variety of negotiated outcomes, such as wage and fringe benefit levels, job and income security, physical working conditions, and union and management rights and responsibilities.

Ans: True
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[QUESTION]

17. Much of the workplace interaction that exists between management and labor in unionized settings focuses on contract administration, rather than setting the terms and conditions of the contract.

Ans: True
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[QUESTION]

18. One reason why public sector collective bargaining is different from private sector collective bargaining is the fact that private sector employees are covered by the National Labor Relations Act, whereas public sector employees are not covered by the Act.

Ans: True
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Multiple Choice

[QUESTION]

19. Government sometimes plays a critical role in the industrial relations process. The term government refers to 

A. local, state, and federal political agencies and processes.

B. employer associations.

C. nonlegislative agencies.

D. union associations.

Ans: A
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[QUESTION]

20. Why did the institutionalists considered labor "more than a commodity?"

A. Workers receive wages equal to their marginal product.

B. Workers acquire skills that are sometimes firm specific.

C. Workers are not members of their families’ communities.

D. Workers can easily be traded away from one firm to another.

Ans: B
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[QUESTION]

21. Conflict within the employment relationship between employers and employees can be characterized as 

A. inherent. Workers seek higher pay and job income security while employers seek higher profits and lower costs.

B. pathological. Society must do something to eliminate the employer–employee conflict. This is the only way to make all members of society better off.

C. unnatural. Sidney and Beatrice Webb argued that such conflicts needs to be controlled because of its "unnatural effects," such as union-caused unemployment.

D. extraordinary. Commons and his associates argued that the employment relationship needed to be examined closely, focusing on the conflictual aspects of the relationship.

Ans: A
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[QUESTION]

22. Why does collective bargaining compete with other mechanisms for resolving conflicts and pursuing common interests at the workplace?

A. Not all workers perceive conflict.

B. Many workers can quit their jobs and find alternative employment if they are unsatisfied.

C. Some workers prefer individual, rather than collective action.

D. all of the above.

Ans: D
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[QUESTION]

23. Consider the following situation: After many years of unsuccessful efforts to win a representation election among the workers in a firm, union leaders decide to launch a corporate campaign against the firm. The decision to launch a corporate campaign takes place at what level within the three-tiered model?

A. external environmental level.

B. strategic level.

C. functional level.

D. bargaining outcome level.

Ans: B
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[QUESTION]

24. The level that is not included within the three tiered industrial relations framework is

A. strategic level.

B. functional level.

C. workplace level.

D. bargaining outcome level.

Ans: D
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[QUESTION]

25. During collective bargaining negotiations, the union decides to strike in order to get higher wages. This decision occurs within what level of the three-tiered model?

A. external environmental level.

B. strategic level.

C. functional level.

D. workplace level.

Ans: C
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[QUESTION]

26. Consider the following situation: Worker A has recently been dismissed because of his/her absenteeism. The worker then decides to file a grievance against the employer. The filing of the grievance occurs at what level within the three-tiered model? 

A. external environmental level.

B. strategic level.

C. functional level.

D. workplace level.

Ans: D
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[QUESTION]

27. The person most deserving of the title, "father of U.S. industrial relations," is 

A. Sidney Webb.

B. Beatrice Webb.

C. Frederick Taylor.

D. John R. Commons.

Ans: D
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[QUESTION]

28. Which of the following individuals authored the following statement: "Trade unions represent the means by which workers can be represented fairly in the employment relationship through the strategies of mutual insurance, collective bargaining, and legal enactment. Thus, society must place a great value on negotiations and on compromise so that the divergent interests of management, labor and the public can be reconciled." 

A. Sidney and Beatrice Webb.

B. Karl Marx.

C. Frederick Taylor.

D. John R. Commons.

Ans: A
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[QUESTION]

29. According to the three-tiered model of industrial relations, the external environment includes

A. rank and file employees.

B. senior union officials.

C. senior management officials.

D. the demographic context.

Ans: D
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